

Strategic Factor Analysis for Exporter of Robusta Coffee Bean from Lampung, South Sumatra, Indonesia

Eman Wisnu Putra^{1*} Rina Oktaviani & Sahara²
1.School of Business, Bogor Agricultural University (IPB), Jl. Raya Pajajaran, Bogor 16151, Indonesia
2.Department of Economics, Faculty of Economics and Management, Bogor Agricultural University (IPB), Jl.
Agatis, IPB Dramaga Campus, Bogor 16680, Indonesia

Abstract

Business of robusta coffee beans in Indonesia has been centralized in Bandar Lampung, the capital of Lampung province in South Sumatra, as the main gate of export from Indonesia. About 75 percent of Indonesia coffee bean export is exported from Bandar Lampung. A local company named PT Asia Makmur (PTAM) has been present since 2008 in Bandar Lampung and would need to develop its business strategy to preserve and escalate its incomes in the future. Internally the company strengths and weaknesses need to be identified as well as the external opportunities and threats for the company. This research considers the analysis of internal and external factors which to be summarized into Strategic Factor Analysis Summary (SFAS) which shall be divided into short term, medium term and long term strategic plan. The result of this research was shown that production of special (premium) beans, storage and processing capacity are the main strengths of the company while the company needs to overcome its weaknesses which consist of business communication in English, international trade knowledge and qualified human resource. The company has dominant opportunities as well in its ability to do direct selling to end-users, to produce internationally-certified beans and increasing demand in domestic market. While the main threats for the company are the competition with foreign companies (multinational companies), the dynamic volatility of world coffee exchange and sales competition. Recommended strategy would be based on SFAS analysis result which shall be implemented through forward and backward integration. **Keywords:** Strategy, Robusta coffee bean, IFAS, EFAS, SFAS.

1. Introduction

Indonesia is the fourth biggest coffee production country after Brazil, Vietnam, and Colombia (ICO 2017). Robusta coffee is widely produced approximately 85 % of total coffee production in Indonesia (USDA 2015). The main producing areas of robusta are located in South Sumatra which produce 70 % of total Indonesia Robusta production (Neilson 2015). These areas are Lampung province, Bengkulu province and South Sumatra province. The production of robusta from these major areas are very much centralized in Lampung province for export business which has its sea port named Panjang Port and has bigger facilities than other two ports in other two provinces. According to the annual export data, Lampung port exports approximately 75 % of total coffee export from Indonesia. In such case Lampung province with its capital Bandar Lampung is the main gate of coffee export business from Indonesia and about 65 coffee-export companies are being registered under Association of Indonesia Coffee Exporters (AICE).

PT Asia Makmur (PTAM) is one of the export company in Bandar Lampung which is purely national and private company. It has been doing business in coffee-beans export and trading since 2008. Since established in 2008 until 2016, the main export destinations of export by PTAM are Germany (82,020 tons), Russia (41,027 tons), USA (33,710 tons), UK (32,647 tons), Italy (26,157 tons), Malaysia (24,856 tons), Algier (22,963 tons), France (15,688 tons), Belgium (14,677 tons) and India (11,981 tons). However with the increasing domestic demand annually at 4-5 % in Indonesia (ICO 2016) then PTAM decided to trade in domestic market as well since 2012. The decision was a right decision with return of increasing income at 168 % in 2012 and 20 % increase in 2013. However the sales income of trade in both export market and domestic market had decreased in 2014 at -7 % and in 2016 at -4 % due to the decreased production in 2014 and 2016. The availability of raw material decreased in 2014 due to excessive rains in 2013 which affected by La Nina phenomenon. While production in 2016 also decreased due to drought in 2015 which affected by El Nino phenomenon. The production rate of robusta in Indonesia is very much depending on weather as no irrigation applied in coffee plantation. On the other side, the availability of coffee is very much affected too by the existing foreign companies (multinational companies) in Bandar Lampung which do the export business as well for robusta coffee beans. The export volume of foreign companies has a higher-trend market share of export from Lampung. In period 2001-2005, the export market share by foreign companies stood at 20-34 % and in period 2006-2010 increased to 22-36 %. Their market share of export volume in period 2011-2016 had increased into 46-53 % of total export from Lampung. Given the existing situation, PTAM considers a strategic business development is needed to preserve and to escalate the company's income in coming years. The strategic business development will involve the analysis of strategic factors internally and externally. The internal factors include the company strengths and weaknesses while the external factors include the company opportunities and threats. All of these



four factors (Strengths, Weaknesses, Opportunities, Threats - SWOT) shall be evaluated through IFAS (Internal Factors Analysis Summary) and EFAS (External Factors Analysis Summary) which shall be concluded in SFAS (Strategic Factor Analysis Summary). The research carried by Joni, Siswoyo & Ebban (2015) about the strategic to increase the coffee's role in the economy's region of Jember District used the IFAS and EFAS for choosing the alternative strategy which being resulted of SWOT analysis formulation. It concluded that the positive impact by government toward the input factor and the value added received by farmers from the dry processed coffee would be better than the wet processed coffee due to the acceptance in domestic market for dry processed coffee. Naturita (2014) supports the SWOT analysis being used into the strategic business development for coffee business in Indonesia by increasing export of processed coffee products (differentiated products) and to increase the production of specialty coffee. These two strategies need to be combined with the strategy of strengths and threats by increasing the quality of the coffee beans in the country and the application of Indonesia National Standard (SNI) gradually in the grass-root stake-holders with the continuity of sustainable training. Purba (2013) also utilizes SWOT analysis for business development strategy of arabica export in North Sumatra which conclude that the strengths points of exporters are quality of products, exporter's potential and delivery time. While the weaknesses points are capital and promotion with the opportunities points such as consumer's loyalty, export license and logistic management. The threats would be the demand, competitors, government's role and the international price. This research purposes are to identify the current company position in the industry, to identify its internal and external factors which affect most of the business development of PTAM and to give a recommendation of business development strategy for PTAM in short-term strategy, medium-term and long-term strategy.

2. Data

This research was conducted for two months in PTAM, located in Bandar Lampung, Sumatra. Primary data is collected through in-depth interview with management of PTAM which include the owner of the company Mr. Budi Setiawan, Finance Manager, Logistic Manager, Warehouse Manager and QC Manager. The secondary data is taken from literature study and from related institutions to this research. The obtained primary data is analyzed by using descriptive and qualitative analysis with a case study approach.

3. Methodology

Method to analyze the internal factors of PTAM, will use the method of IFAS (Internal Factor Analysis Summary) which determine the strengths and weaknesses factors within PTAM. While the method to analyze the external factors of the company will use the method of EFAS (External Factor Analysis Summary) which determine the opportunities and the threats to PTAM. Each indicators of internal and external factors are processed through IFAS and EFAS by giving its weight by paired comparison method. This method is comparing whether one factor has category 1 (less important than other factor), category 2 (equally important with other factor) and category 3 (more important than other factor). While the rate is given according to the response of PTAM to each factor which stands in range 1 (poor), 2 (below average), 3 (average), 4 (above average) and 5 (outstanding). The stages of data processing are input stage, synchronization stage and decision stage. In input stage, the analysis of internal and external environment are summarized into IFAS and EFAS). IFAS-EFAS result shall show the company's position as well in the industry and show the dominant factors of each environment. In synchronization stage, the dominant factors shall be summarized and processed in SFAS Matrix which shall give a result of weighted scores. These weighted scores shall be taken into consideration for strategic priorities in short-term, medium-term and long-term implementation based on dominant factors.

4. Emphirical Result

4.1 Company Profile

PTAM is a private company owned individually by Mr. Budi Setiawan and the company is managed based on the family-relationship. It was established in 2008 and its processing capacity 84,000 tons annually with total storage capacity 40,000 tons. PTAM major business was initially for export market however PTAM decided to supply into domestic market since 2012 as well. The products of PTAM are commercial coffee standard grade such as Grade 4 to Grade 6, special coffee products (customized according to buyers' request) and internationally-certified coffee (4C). The sales are made into two channels which are direct sales to end users (mainly to domestic market and partly to global roaster as like JDE) and through international trading houses (as the middle-agent). To improve its income through sales of export and sales to domestic market, PTAM has to face challenges as like the availability of raw material which depends on the weather situation and also a tight competition with foreign companies.

4.2 Internal Factor Analysis Summary (IFAS)

Based on the analysis of internal factors PTAM which include its strength and weakness factors there are three



dominant factors on its internal environment.

Table 1. Analysis result of IFAS

	Strengths	Rate	Weight	Score
S1	Special Products	5	0.080	0.399
S2	Storage Capacity	4	0.094	0.377
S3	Processing Capacity	4.5	0.080	0.359
S4	Loyal Customers	5	0.063	0.314
S5	Wide Procurement Networking	4	0.072	0.290
S6	Banking Financial Support	4	0.056	0.222
S7	Reliable Suppliers	3.5	0.056	0.194
	Weaknesses			
W1	Business Communication in English	3	0.087	0.261
W2	International Trade Knowledge	3	0.082	0.246
W3	Qualified Human Resources	3.5	0.068	0.237
W4	One-Man Show Decision Maker	3	0.072	0.217
W5	Claims Handle	3	0.072	0.217
W6	Capital	4	0.053	0.213
W7	Professionalism	3	0.065	0.196
	Total		1.000	3.742

On its strength, the dominant factors are special products, storage capacity and processing capacity (score 0.399; 0.377; 0.359). While its weakness, the dominant factors are business communication in English for business, international trade knowledge and qualified human resource (score 0.261; 0.246; 0.237).

4.2.1 Dominant Strength Factors

Dominant strength factors are defined as follow. Special products (S1 with score 0.399) are special quality of coffee beans which usually produced based on the requirement of specific buyers as like Extra Large Beans (ELB), Nestle 7.2 (fits with cupping profile required by Nestle, known as quality 7.2), Lavazza special specifications (with specific screen size of the green bean and defects). Storage capacity (S2 with score 0.377) means the total storage capacity which owned by PTAM which are in total capacity at 40,000 tons. Processing capacity (S3 with score 0.359) means the total production in quantity which owned by PTAM at 7,000 tons per month or 84,000 tons annually.

4.2.2 Dominant Weakness Factors

Dominant weakness factors are defined as follow. Business communication in English (W1 with score 0.261) means the skills and abilities of key employees in PTAM to communicate in English for business purpose. International trade knowledge (W2 with score 0.246) means the knowledge that owned by key employees in PTAM related with international trading knowledge. Qualified human resource (W3 with score 0.237) means the competency of key employees which are 60 % high-school graduates only and qualifications are not prioritized because the company is based on the family-relationship management.

4.3 External Factor Analysis Summary (EFAS)

Based on the analysis of external factors PTAM which include its opportunities and threats, there are three dominant factors of each external environment.

Table 2. Analysis result of EFAS

	Opportunities	Rate	Weight	Score
O1	Direct Sales to End Users	5	0.083	0.417
O2	Certified Products	4	0.086	0.343
O3	Domestic Demand	5	0.065	0.324
O4	Pre Finance Scheme	4.5	0.063	0.281 0.278
O5	Trust & Loyalty of Big Customers	5	0.056	
O6	Currency Exchange	3	0.074	0.222
O7	Consistent Quality	3.5	0.056	0.194
	Threats			-
T1	Competition with Foreign Companies	4	0.086	0.343
T2	Volatility of Coffee Exchange	4	0.081	0.324
T3	Sales Competition	4	0.069	0.278
T4	Purchase Competition	3.5	0.069	0.243
T5	Rising Cost of Labour	3	0.079	0.236
Т6	Weather Anomaly	3	0.069	0.208
T7	Rising Cost of Export	3	0.065	0.194
	Total		1.000	3.885

On its opportunities, three dominant factors are direct sales to end users, certified products and domestic demand (score 0.417; 0.343; 0.324). On its threats, three dominant factors are competition with foreign companies, volatility of coffee world exchange and sales competition (score 0.343; 0.324, 0.278).



4.3.1 Dominant Opportunity Factors

Dominant opportunity factors are defined as follow. Direct sales to end users (O1 with score 0.417) means the ability of company to do direct sales to end users both in domestic market and international market. Certified products (O2 with score 0.343) means the certified product which has been produced by PTAM (4C Certification) and the other certifications which are not yet obtained by PTAM as like organic certification, rainforest certification. Domestic demand (O3 with score 0.324) means the demand from domestic market of robusta coffee beans which can be supplied by PTAM.

4.3.2 Dominant Threat Factors

Dominant threat factors are defined as follow. Competition with foreign companies (T1 with score 0.343) means the direct competition with foreign companies which do the processing-toll and do the business as well in export market and domestic market. Volatility of coffee exchange (T2 with score 0.324) means the volatility of robusta coffee exchange in London (ICE / Intercontinental Exchange) which determines the robusta coffee price in daily basis for the whole world. Sales competition (T3 with score 0.278) means the sales competition in both market of export and domestic market which can be a threat if others are giving offer at below market's price in order to do speculation business.

4.4 Company's Position

Based on the IFAS and EFAS result, the company position in the industry is at the growth strategy which the application of the recommended strategy would be the vertical integration. According to Wheelen & Hunger (2012), growth strategies is determined to expand the company's activities. The vertical integration would be achieved by taking over a function previously provided by a supplier (backward integration) or a distributor (forward integration).

4.5 Strategic Factors Analysis Summary (SFAS)

SFAS is a summary compilation of IFAS and EFAS with weighted score. Each three dominant factors from strengths, weaknesses, opportunities and threats are combined to find out the prioritized strategy within short-term, medium (intermediate) term and long-term implementation. The rates used for each factors in SFAS are same according to the rates of each factors in IFAS and EFAS.

Table 3. Analysis result of SFAS

		Rate	Weight	Score			
S1	Special Products	5	0.088	0.441			
S2	Storage Capacity	4	0.069	0.275			
S3	Processing Capacity	4.5	0.072	0.324			
W1	Business Communication in English	3	0.101	0.304			
W2	International Trade Knowledge	3	0.105	0.314			
W3	Qualified Human Resource	3.5	0.088	0.309			
O1	Direct Sales to End Users	5	0.075	0.376			
O2	Certified Products	4	0.078	0.314			
O3	Domestic Demands	5	0.072	0.359			
T1	Competition with Foreign Companies	4	0.101	0.405			
T2	Volatility of World Coffee Exchange	4	0.072	0.288			
T3	Sales Competition	4	0.078	0.314			
	Total		1.000	4.021			

According to the SFAS result we have vary scores. The highest score will be considered to be implemented within long term strategy (in period of three years and beyond), the middle/medium score will be into medium term strategy (in period one year to three years) and the lowest score will be into short-term strategy (in period within one year). In strength factors, long term strategy will be based on special products (S1 with highest score 0.441) and medium term strategy based on processing capacity (S3 with middle score 0.324) while short term strategy based on storage capacity (S2 with lowest score 0.275). In weakness factors, the long term strategy of long-term will be based on international trade knowledge (W2 with highest score 0.314). For medium term strategy will be based on qualified human resource (W3 with middle score 0.309) while short term strategy will be based on direct sales to end users (O1 with highest score 0.376) and medium strategy will be based on domestic demands (O3 with middle score 0.359) and short term strategy which based on certified products (O2 with lowest score 0.314). In threat factors, long term strategy will be based on sales competition with foreign companies (T1 with highest score 0.405), medium term strategy will be based on sales competition (T3



with middle score 0.314) and short term strategy will be based on volatility of world coffee exchange (T2 with lowest score 0.288).

4.6 Strategic Implementation

Strategic implementation will be prioritized through three different period which are long term strategy (in period three years and beyond), medium term strategy (between one year to three years) and short term strategy (within one year) according to SFAS analysis.

Table 4. Strategy implementation according to SFAS result

	Tuble 1. Strategy implementation decorating to S1715 result						
					Strategy		
No.		Weight	Rate	Score	Short	Medium	Long
					Term	Term	Term
S1	Special Products	0.088	5	0.441			X
S2	Storage Capacity	0.069	4	0.275	X		
S3	Processing Capacity	0.072	4.5	0.324		X	
W1	Business Communication in English	0.101	3	0.304	X		
W2	International Trade Knowledge	0.105	3	0.314			X
W3	Qualified Human Resources	0.088	3.5	0.309		X	
O1	Direct Sales to End Users	0.075	5	0.376			X
O2	Certified Products	0.078	4	0.314	X		
О3	Domestic Demands	0.072	5	0.359		X	
T1	Competition with Foreign Companies	0.101	4	0.405			X
T2	Volatility of World Coffee Exchange	0.072	4	0.288	X		
Т3	Sales Competition	0.078	4	0.314		X	
		1.000		4.021	•		

4.6.1 Long Term Strategies

Long term strategy will include four major factors with highest score according to SFAS analysis which are S1-W2-O1-T1 (special products, international trade knowledge, direct sales to end users and competition with foreign companies). These long term strategies can be implemented through:

- 1) Direct sales to end users for special products. Which means PTAM needs to make a direct approach with the end users in domestic market or export market for special (customized) products without the role of trading houses or middlemen. This would be part of vertical integration through forward integration.
- 2) Continuous trading training which means PTAM key employees needs to be trained in order to gain knowledge of international trading in order to be able to make a direct sales approach to end users and to compete with foreign companies. This training will be much related to digest the global market information related with supply and demand in domestic market and or export market. These informations usually will be significantly affect to business expansion of PTAM in the global market. The global market information shall affect too for decision making process which shall be taken by PTAM related with supply-demand market.
- 3) Increase the production of special products in competition with foreign companies and PTAM would need to expand other special products according to special needs from the end users. Special products means products customized according to special requirements from buyers in term of quality specifications.

4.6.2 Medium Term Strategies

Medium term strategy will include four major factors with middle score according to SFAS analysis which are S3-W3-O3-T3 (processing capacity, qualified human resources, domestic demands, sales competition). These medium term strategies can be implemented through:

- 1) Increase the processing capacity to supply into domestic demands. PTAM may need to introduce as well into domestic market for special products or certified instead of commercial standard grade.
- 2) Continuous training to achieve qualified human resource in particular in commercial side and logistic side in order to meet domestic market requirements. The proper training will be much related to the execution process in domestic buyers which shall less complex rather than export market. Qualified human resource also in focus of sales or marketing strategy to anticipate the sales competition in domestic and export market. This can be started by team building to do crop survey to measure supply supply market which can affect the sales decision made by PTAM. The alternative way to be competitive in sales competition is to expand its business relationships in abroad related with funding in order to get better and cheaper loan interest for PTAM.
- 3) PTAM needs to consider to increase the processing capacity to have a competitive sales price in the both market either domestic or export market. Evaluation will be needed before PTAM decides to replace or to add the processing machineries.



4.6.3 Short Term Strategies

Short term strategy will include four major factors with middle score according to SFAS analysis which are S2-W1-O2-T2 (storage capacity, business communication in English, certified products, volatility of world coffee exchange). These short term strategies can be implemented through:

- 1) Utilize storage capacity for certified products which shall give a higher sale-value in particular for certified products as like 4C. Other certifications which are quite rare owned by competitors, may need to be obtained as well as like organic certification or rainforest certification which usually required by buyers.
- 2) Proper training for business communication in English in anticipation of the volatile coffee market in a day to day business activities. The information of the dynamics global coffee market would be informed mostly in English. These would be including the over supply situation or shortages situation or even the weather situations which affect to the global coffee prices. These global informations will be useful if PTAM has ability to digest it and take actions related to the decision to buy, or to sell or to keep the stocks for a while. Business communication in English is also needed to maintain the current-owned international certification (4C) or to obtain the new international certifications such as organic certification or rainforest certification. The audits will be executed in English before those certifications are obtained. Therefore the proper training for business communication in English would be urgently needed by PTAM.
- 3) Utilize its storage capacity in maximum usage in order to be able to store the beans in anticipation of volatile market in world coffee exchange. This means PTAM can keep the stocks a while when the world coffee price moves in the down-trend and sell more when the world coffee price moves in the up-trend. Description for the above table.

4.7 Managerial Implications

This research is conducted to formulate the prioritized strategy for PTAM which is based on SFAS analysis. According to the result of this research there are long term, medium term and short term strategies which need to be implemented by the company. The implementation through the growth strategy shall be conducted through backward integration and forward integration. In the backward integration, PTAM will need to expand its new sourcing areas. While the forward integration PTAM will need to expand its ability to do business in direct sales to end users which will eliminate or minimize the role of trade houses (middle-agent). To increase the direct sales to end users can be achieved by PTAM through joining the trade exhibition which can be facilitated by Indonesia government. The target market to increase direct sales to end users shall be into the top ten export destination in export market and also the direct sales to end users in domestic market.

On its strongest strength factor, PTAM needs to develop more on special products which customized according to special needs by end users both in export market and domestic market. While on its weakest factor, PTAM needs to escalate its capacity for business communication in English through the continuous and proper training. Meantime in its strongest opportunity of PTAM would be needed to be developed in building business relationship to do direct sales to end users both in domestic and export market. While to face its strongest threat, which is the competition with foreign companies, PTAM needs to develop qualified human resource to be able to digest the global information or even to expand its business relationship to funding or partner companies in abroad. In competition too with foreign companies, PTAM needs to produce more special products than foreign companies as these special products will be valued higher than other standard products.

5. Conclusion

Current business position of PTAM is on the growth position with the strategy of vertical integration. This integration would be executed through backward and forward integration. The dominant strength factors of PTAM are special products, storage capacity and processing capacity. The dominant weakness factors of PTAM are business communication in English for business, international trade knowledge and qualified human resource. The dominant opportunity factors for PTAM are direct sales to end users, certified products and domestic demands. The dominant threat factors for PTAM are the competition with foreign companies, volatility of world coffee exchange and sales competition. In a combination of all those dominant factors according to SFAS perspective will be built based on the combination of highest score for long term strategy which involve special products, international trade knowledge, direct sales to end users and competition with foreign companies. In medium term strategy would involve factors with middle score as like processing capacity, qualified human resource, domestic demands and sales competition. In short term strategy which means urgently to be executed is related with factors with lowest score such as storage capacity, business communication in English, certified products, and to anticipate the volatility of world coffee exchange in daily basis.

References

Arifin, B. (2014). Global sustainability regulation and coffee supply chains in Lampung Province, Indonesia. *ASIAN Journal of Agriculture & Development*, 7(2), 67-88



- Arifin, B. (2013). On the competitiveness and sustainability of the Indonesian agricultural export commodities. *ASEAN Journal of Economics, Management and Accounting*, 1(1), 81-100
- Astuti, EF. et al. (2015). Sustainability certification and economic perfomance: an Analysis of coffee marketing channels in Indonesia. *Journal of Economics and Sustainable Development*, 6(24), 84-98
- Barney, JB., Hesterly, WS. (2014). *Strategic management and competitive advantage: concepts and cases*. (3rd ed.). New Jersey: Pearson, (Chapter 4).
- Baroh, I, et al. (2014). Indonesia coffee competitiveness in the international market: Armington model application. *American Journal of Economics*, 4(4), 184-194
- CBI, (2012), Marketing strategy for sustainably sourced coffee from Indonesia. [Online] Available: https://www.cbi.eu/sites/default/files/market_information/researches/tailored-study-indonesia-europe-eumarketing-strategy-coffee-2014.pdf (July 31, 2012)
- Eccardi, F., Sandalj, V. (2002). Coffee a celebration to diversity. (1st ed.). Gorizi: Redacta, (Chapter 1)
- Hilten. (1992). The international coffee trade: developing an export strategy. *Proceedings of The International Trade Forum*, 4-19
- Ibnu, M., Glasbergen, P., Offermans, & Arifin B. (2015). Farmer preferences for coffee certification: a conjoint analysis of the Indonesian small holders. *Journal of Agricultural Science*, 7(6), 20-35
- Indarto. (2013). The road to Java coffee. (1st ed.). Jakarta: SCAI, (Chapter 3).
- ICO, (2017), Total production by all exporting countries. [Online] Available: http://www.ico.org/historical/1990%20onwards/PDF/1a-total-production.pdf (July 1, 2017)
- ICO, (2017), World coffee consumption. [Online] Available: http://www.ico.org/prices/new-consumption-table.pdf (July 1, 2017)
- Neilson, J. (2007). Institutions, the governance of quality and on-farm value retention for Indonesian specialty coffee. *Singapore Journal of Tropical Geography*, 28, 188-204
- Neilson, J. (2008). Global private regulation and value chain restructuring in Indonesian small holder coffee systems. *Journal of World Development*, 36, 1607-1622
- Neilson, J., Arifin, B., Gracy, CP., Kham Tn., Pritchard, B., Soutar, L. (2010). Challenges of global environmental governance by non-state actors in the coffee industry: insights from India, Indonesia and Vietnam. In *Agriculture, Biodiversity and Markets*. (eds.). London: TJ International, (Chapter 3)
- Purba, PDL., Supriana, T., Chalil, D., Strategi pengembangan ekspor kopi arabika Sumatera Utara. *Journal on Social Economic of Agriculture and Agribusiness*, 2, 1-15
- Rangkuti, F. (2015). Analisis SWOT: teknik membedah kasus bisnis. (3rd ed). Jakarta: Gramedia, (Chapter 3)
- Saragih, JR. (2013). Socio economic and ecological dimension of certified and conventional arabica coffee production in North Sumatra, Indonesia. *Asian Economic and Social Society Journal*, 3, 93-107
- Seong-Jon, Hokey, M., Ik-Whan, GD., Heebong, K. (2010). Comparative efficiencies of specialty coffee retailers from the perspective of socially responsible global sourcing. *International Journal of Logistic Management*, 21, 490-509
- Simamora, SD., Langkah dan strategis ekspor ke Uni Eropa: produk kopi. Jakarta: Apindo, (Chapter 2)
- Siswoputranto, PS. (1993). *Kopi internasional dan Indonesia*. (1st ed.). Yogyakarta: Kanisius, (Chapter 5)
- Tongkukut, SHJ. (2011). El Nino dan pengaruhnya terhadap curah Hujan di Manado, Sulawesi Utara. *Jurnal Ilmiah Sains*, 11, 102-108
- USDA, (2015), Coffee: world markets and trade. [Online]. Available: http://usda.mannlib.cornell.edu/usda/fas/tropprod//2010s/2015/tropprod-12-18-2015.pdf (Dec 18, 2015)
- Wheelen, T.L., Hunger, J.D. (2012). *Strategic management and business policy toward global sustainability*. (5th ed.). New Jersey: Pearson, (Chapter 6).
- Wild, J.J. & Wild, K.L. (2013). *International business: the challenges of globalization*. (6th ed.). Kuala Lumpur: Pearson, (Chapter 1).

Notes

Eman Wisnu Putra graduated as Bachelor of Agricultural Social Economics in 1997 from Mercu Buana University and continued his education at School of Business for Master Program of Management and Business in Bogor Agricultural University (IPB). Since 1998, he has been working as Coffee Trader in some companies such as Cargill Coffee Division and Sucafina SA. In several assignments abroad, he gained professional skills and knowledge through the ICO training in London (October 1998), Uganda (period of 1998-2000), Switzerland (period of 1999-2000) and Vietnam (period 2002-2004). Has been certified as well by UNCTAD-ITC-WTO for Certified International Purchasing and Supply Chain Management (2009) and licensed Q grader (2011-2014). Currently actively being involved as Treasurer in SCOPI (Sustainable Coffee Platform of Indonesia) in period March 2015- March 2018 and also the member of SCOPI task force for sustainable standards and geographic indications as his real contribution for coffee business development in Indonesia.